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ID o]l & next| T Nodeo] i3t Z e Node(2).ID : ND2_A
Bus |Bus AAZUH 2 ) o) Node(2).Bus : Null
Node(2).Next : Null
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Bus A A= NodeZ Ao FHMdes #7134 dA4 23 Station(1).ID @ A
HE BHH, T2 £YA) Yo A Station(1).numOfNode : 3
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Loop Node(i) in Station
Bus(i) .Node = i
Node(i) .Bus i
Node(i).next 0

End Loop
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Loop Breaker(i) in Station
If Breaker(i).isClosed
nearND = Breaker(i).nearND
farND = Breaker(i).farND
nearBus = Node(nearND).Bus
farBus = Node(farND).Bus
Node(Bus(farBus).Node) .Bus = nearBus
Node(nearND).next = Bus(farBus).Node
Bus(farBus).Node = 0
End Loop
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Loop Bus(l)
Island(i).Bus i
Bus(i).Island = i
Bus(i).next = 0

End Loop
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Loop Device(i)
nearBus = Node(Device(i).nearND).Bus
farBus = Node(Device(i).farND) .Bus
If neaBus.Island not equal farBus.Island
Bus{farBus).Island = Bus(nearBus).Island
Bus(nearBus).next = farBus
End Loop
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Loop Measurement(i)
island_idx = Bus(Node(Measurement(i).Node).Bus).Island
Island(island_idx) .numOfTotal + +
If (Measurement(i).Value )= Measurement(i).Thres)
Island(island_idx) .numOfLive + +
Else Island(island_idx).numOfDead+ +
End Loop

Loop Island(i)
LiveRate = Island(i).numOfLive/Island(i) . numOfTotal * 100
DeadRate = Island(i).numOfDead/Island(i) numOfTotal * 100
If LiveRate )= System.LiveThred
Island(i).isLive = True
Else If DeadRate >= System.DeadThred
Island(i).isDead = True
Else Island(i).isUnknown = True
End Loop
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